g fﬁﬂ Zé) @ Multiplier les nombres décimaux par des puissances
de dix

Nom: Date: Note:
8,764 x 1000 = 2,736 x 10 =
8,605 x 1000 = 8,952 x 1000 =
6, 743 x 100000 = 3,42 x 1000 =
1,841 x 1000 = 4,759 x 1000000 =
6,48 x 100000 = 8,352 x 100 =
4,453 x 100000 = 3,262 x 100 =
5,241 x 100 = 4,658 x 10000 =
4,548 x 10000 = 9, 832 x 10000 =
5, 608 x 10000 = 1,296 x 1000000 =
6,479 x 10 = 2,798 x 10000 =
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g fﬁﬂ § @ Multiplier les nombres décimaux par des puissances
de dix

Nom: Date: Note:
8,764 x 1000 = 8764 2,736 x 10 =27.36
8,605 x 1000 = 8605 8,952 x 1000 = 8952
6, 743 x 100000 = 674300 3,42 x 1000 = 3420
1,841 x 1000 = 1841 4,759 x 1000000 = 4759000
6,48 x 100000 = 648000 8,352 x 100 = 835.2
4,453 x 100000 = 445300 3,262 x 100 = 326.2
5,241 x 100 = 524.1 4,658 x 10000 = 46580
4, 548 x 10000 = 45480 9, 832 x 10000 = 98320
5, 608 x 10000 = 56080 1,296 x 1000000 = 1296000
6,479 x 10 = 64.79 2,798 x 10000 = 27980
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